10.

11.

12.

13.

AEE 9] 72 @97
o

25 AU A E= A AlZk] AL ofE FA-L shhar

b‘u.:ﬂ._l

=0.1H, ¥

v dt

L SAAY AE

=5A/sY

V=L 4=01.-5=05V
‘,';]’:O.SV

~
—~

ol 2L

LU USSR U )

=

—]

gzt

zn}57) Z7)e1R Qe o] 2lejEi A

(T)

Z71eit
=10mH, f =50Hz¥Y

O
2

oft &3 & gl 2
.o || .
KJMIH

in) in)

!
2o
N
o

~
N—

~

—_

&S
| |

o =] €] A
1L12

o

7179 g9

A]

o9
!

o,
rr
R
Hu
1o,
rE
ﬂ
)
fu)
:cé
9

ra
=il
rE
ol
il
12
=
(o]

—|_4
v
o

Ll
N
I

[
ofl
]
o,

ki)
rr
o
u
ﬂ
fu
2,
>
k)

o o
I QgL

A ALY

-1 =—

2rfL =27 -50-0.01 = 3.14Q
3.140Q

el o
7%

A AUAS AT

05H, I =2AQ o] % oz =?
05-22=1J



G
oM
N E
iy
NI
S S
S |
| o~

< Bm

o

A 204

1. L=100mH, f=60Hz uj =]H

Mo
Kjo

2rfL =27-60-0.1 =37.7Q

o 37.7Q

Xp

~

A o V(
2000L cos
2000L cos(500t

dal _
dt

2. I(t) = 4sin(500¢)
V(t)=1L-
' V() =
3. L=200mH, I —3A w] Z=F of] 2] =2

05-02-9=09J

—

10A4/s, L=05H2
05-10=5V

ar _
dt

|4
g5V

D.

L=
o

AL
7F, A AL

o
T

™~ Ko

il

o

— 9 fL = 314Q
o 3140

8. L=50mH, f=1kHz< o &
X1



o Fee

9. 2}~
o

S

~ 0.265 A

10
37.7

Vo
XL
'a': 0.265 A

10. V=10V, L =100mH, f =60 HzY oj
1

o i AL?
R?+ X}
R?+ X7

11. A3 R-L 3]29] ¢
Z:
o 7 =

2fo] 743

QUER2 F717} AR st n)
o1 e

&

12.

o NI

—

10mHR

25sin(1000¢), L

14. I(t)

20 cos(1000t)

V(#)

o 20 cos(1000¢)

- ZH

15. 1Fut F5 A|A S=e?
o: 299

[e)

18. IS Efoll A Zgat 7o AE=?
@ ARIF MG RT 90% =

7

=
o

o 4ul

19. 7he 52 2=

Al 20A]

=
o

N1A=

o

ol

ol

e

o

)

o)

I

N o

Lo

S~

Olm

O ~—

0%%

H\C”\

o %

n L O

s O
IR

Il 0

—_

=

S—

=~ pu

—

27V LC

ol
Ol
—



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

L=10mH, C =1pFY o) 3 Fupii?

fo

~ 5032 Hz

ot ©F 5.03kHz

Z7he

X, =314Q

)

: 3140

CRLC 8]z mes

EAE § Z7)7} Qe E A A

o

=5mH, f=10kHz¥ o 2]

LAl 09
o 11

g Z =R+ (X, — X¢)?

BHOIH ARl AL AR}

)

L =20mH, I(t) = 10sin(2000t)Q wj A }-e?

: 90 =9

V(t) = 400 cos(2000t)
o 400 cos(2000¢)

i 2

o fo

AT AU ged

i

47 5]

)
é_‘
RrE
A

in)
Rl
>
B[\

A

o4 Qe Jarer

A, Wee, Ao

Oy =" L;glg)—’]'



21. 2}7] S| AH A A 2 o]E?

! -

& A5UEe A A ) NAY 24



